

$$\boxed{\frac{1}{1} = b} \Rightarrow \frac{1}{1} = b \Rightarrow 1 = b \Rightarrow$$

$$\frac{1}{R} = \frac{1}{R_1} + \frac{1}{R_2}$$

$$\frac{f}{\lambda} = \left(\frac{c}{\lambda} x \right) + 1 = 2 \Rightarrow \frac{c}{\lambda} = p$$

$$1 = b \vee c \wedge b \wedge c \wedge b \wedge c$$

$$\frac{d}{p_h} = \left(\frac{r}{r_h} \times \frac{1}{r} \right) + 1 = r + 1 \Rightarrow \frac{r}{r_h} = p$$

$$V = \bigcap_{n=1}^{\infty} b_n \subsetneq \bigcap_{n=1}^{\infty} a_n = b = \bigcap_{n=1}^{\infty} b_n$$

$$V = v \Leftrightarrow \left(\frac{V}{1v} \right) = \frac{1}{\frac{1}{v}} = \left(\frac{1 - \frac{v}{c}}{1 - \left(\frac{v}{c} \right)} \right) \times V \Leftrightarrow$$

$$\boxed{a} = b \Leftrightarrow a = b_1 + b_2 + b_3 + b_4 + b_5 \Leftrightarrow$$

$$I_1 = \frac{b - b}{1 - b} < 1 \quad I_1 = \left(\frac{1 - b}{1 - b} \right) \times 10$$

$$\frac{1}{s} = s^{-1} \Rightarrow 1/s = aq = s^{-1} = \frac{s^{-1/2}}{s^{1/2}} \Rightarrow s^{-1/2} = (aq)$$

